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For.each question, write on'your answer.sheet the number of the question followed by the letter™ - -

“that COrresponds to the right ariswer. No justification is needed.

1. The pnce ofan article increases by 10% and then reduces by 10%
a) The new pricé is higher b) The new price is lower - &) The price remains unchanged
d) It remains the same even when reduced by 10% and then mcreashd by 10%

2 Gwen that A and B are two events such that p(A) = 1/8, p(B) 2/3 and p(AUB\‘—
therefore p(AﬂB) is equal fo :

ﬁ) o vﬁ— LR 7
3. Two unbiased dice w1th 51des numbered from 1 through 6 are thrown The pmbabdxty
© to obtain a sum equai to four 155 ,

v 5 . g - g
24Y Sm=i '
4. Theset{ x—¥+2=05 has as solution
X vtz =3 ek S
2) (LLD) b) (3,5.7) Q) (4.2,5) d) 324 0/

5. The number 3ln4-In 12 is equal to

a) 0 b) In 52 Jln. =2 d) 3 In4-In3
6. The function f defined by-f(x)= In(Inx) has as domain by definition:

2) J1,+0[ V)]0, +o[ )]0, 1[ )]0, 1[U]I, +oof

7. The equation Inx = -5:

e
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; 3 = < 1
4) Has no solution b) has as solution ¢ \{has as solution ¢°  d) Has as solution .
o

8. The equality of 2ln (3-x) —In (x+2) = In (( =L ) s true for all elements in x :
B 123 b) 10, -+eo[ 2 P

9. The derivative of the function defined by f(x) = xlnx is given by :

) f<x>=§ R - - f
"10. The origin of ]1, +90 [ of the ﬁmchon defined by f(x) = is given by :
2 F= li b) Flx) = — c) F(x)=— = d)F(x)= In(Inx)

Exercise II (6 marks)
No justifications are required.

3 Iff s a functron defined on [0, +o0 [ by f(}() xlnx — for x 70 and f(O) =

e ol The hmt’c Of fat +oo s equa] to ol o
@) e H ket c) +OO L d) 1% e O Smark

-2 ke denved functlon f s gwen by g Pl oo e
Ja) _]“(x) Jhx b f'(x)" Inx+ 1" c) f(x) lnk-1 d) f(x) Ak 0, 5m2_rk

3 One ofhe tables shows the vanauorl off which one. 1s 1t7 0. Smark

XO : 1,00 0 U osei g  1 _: e
OIS L iy SR B\ 5
] g - LA St o hort ff;}() ? \ , b
e 7 L
Tl 1 T el

i

4 Recopy and complete the following tab!e below (gwen the value to apprommateiy 2d. p)

'x @5 . 1078 [T 175 |15 _2‘ e" 5 (4.5
1), 'l S --_G%'.;Vk*}xm‘; oGl Eic |Les 3 9

- 5. Trace the curve (C) which is a representative of the function / Consider 2cm per unit on
each axis. i , B (2 marks)

Exercise I11 (4 marks)

No justifications are required. i BT ‘
The segment on the right adjacently is a graphical representanon of a derived ' :\
function g defined on [-1, 5]. :
A. Answer yes(Y) or no (N). ¥
. g(-1)<g0). _ 0.5mark Ly 3
2. g(-1) <g(0). 0.5mark | i
3. The function g increases on [2, 5]. 0.5mark
4. G is a third degree polynomial. 0.5mark
B. 1. We know that g (2) = 3. Therefore g(x) 1s equal to
4 B —dxt] bBEr—l @rHtx-1 d-—axt9 1mark
2. Draw a variation table of g. No study of the function,
‘1s required. “1mark
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